02/11/2015 Www.crouzet.com

CROUZET
SWITCHES

&

V4 8318 Sealed High-current 83180 Part number made to order

® |P 67 protection

* Nominal ratings 0.1 Ato 10 A/ 250 VAC

* Minimum rating 1 mA /4 VDC

* Operating temperature -40 °C to +125 °C

* Choice of actuators with 2 possible fixing positions

Part numbers

High-current 83180 | (changeover) w2s

Specifications

Electrical characteristics
Rating nominal / 250 VAC (A) 10
Rating thermal / 250 VAC (A) 12,5

Mechanical characteristics
Maximum operating force (N)

4

0
93
01
06
-40 —>+125

émblent operating temperature for wires/cable version ( 40 >+105

Mechanical life (operations) 108
Contact gap (mm) 04
Weight (g) (tags version) 2

3
Min. Release force (N) 1
5
1

Comments
* Type 83180 available on request
** Cable version for types 83181, 83183 and 83186

Additional specifications
Components

Material

- Case : polyester UL 94VO

- Button : polyester

- Membrane : silicon

- Contacts : AgCdO or AgSnO2
gold-plated AgNi (dual-current)

- Terminals : silver-plated, tinned brass
- Cable/Lead : PVC

Levers

- Flat : stainless steel

- Roller : stainless steel, polyamide roller

Principles

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



02/11/2015

Symmetrical version
types 83180/181 /183 /186

+ 0,1

@22 R=2

2 R=2
oo
v j;E Y

WWW.Ccrouzet.com

- —
ol EE B\/ﬁ o0
Y 1 9
™ o I~
é A +0,05
c 0 5*01 05| h ©@22570
’ - .
NG 9,5 52"
Il =
=q7,5_|<7,5 -
o ¥ —
o [ ©
A
19,970
-
(1] OL = 7.6 max.

Asymmetrical version
types 83180/181 /183 /186

Fixed by 2 M2 screws Torque with screw only : 0.2 Nm, with screw + washer : 0.3 Nm

w2s
Solder

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



02/11/2015 WWW.crouzet.com

% T 0
NN ! -0,1
™ __'j ?1.,8
‘ i
L Y
A
L |
P~ i 1 =)
| A U
— =
v o
l\
Y
SEE
2,8
| -

Fixed by 2 M2 screws Torque with screw only : 0.2 Nm, with screw + washer : 0.3 Nm

W7S
Faston 2.8 x 0.5

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



02/11/2015 WWW.crouzet.com

0]

2,8

| -

Fixed by 2 M2 screws Torque with screw only : 0.2 Nm, with screw + washer : 0.3 Nm

X1A
Straight PCB output

i R=0,5
0,8

Fixed by 2 M2 screws Torque with screw only : 0.2 Nm, with screw + washer : 0.3 Nm

X1s
Straight PCB output

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



02/11/2015 WWW.crouzet.com

i R=0,5
0,8

Fixed by 2 M2 screws Torque with screw only : 0.2 Nm, with screw + washer : 0.3 Nm

X2A - X2S
Side outputs, PCB rear

= s
N —

A |
- | [ve]
=1
LD

|

L

Fixed by 2 M2 screws Torque with screw only : 0.2 Nm, with screw + washer : 0.3 Nm

X3A - X3S
Side outputs, PCB front

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



02/11/2015 WWW.crouzet.com

- |

5,08
0

[

QH

Fixed by 2 M2 screws Torque with screw only : 0.2 Nm, with screw + washer : 0.3 Nm

Printed circuit board mounting
Asymmetrical
X1A, X2A, X3A

O O 0O
-

@
a1 3 0,1

10°"710,16*""
15*“'1/15,24”"__

Fixed by 2 M2 screws Torque with screw only : 0.2 Nm, with screw + washer : 0.3 Nm

Ne Legend
1] 1c

(2] 4.NO
(1] 2.NC

Printed circuit board mounting
Symmetrical
X1S, X2S, X3S

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



02/11/2015 WWW.crouzet.com

o O O

o ¢ o

75%7,62"

157 %; 04*"
! [

Fixed by 2 M2 screws Torque with screw only : 0.2 Nm, with screw + washer : 0.3 Nm

N° Legend
1] 1c

2] 4NO
(1] 2.NC

Mounting on a printed circuit board with fixing pins
Asymmetrical

12.25= 01

jor— 0.1/10.16 =01

0] |1501/15,24]

\

Fixed by 2 M2 screws Torque with screw only : 0.2 Nm, with screw + washer : 0.3 Nm

Mounting on a printed circuit board with fixing pins
Symmetrical

12.25 201

9,520

o 9.5201
: | ; = =

U/ E)ﬁ\ @ 2.9 =005
é__é_ _‘R\ @ 1.3:0
7.5:01/7.62:01 |

<7

5=0.1
1

15201/15.24 201

Fixed by 2 M2 screws Torque with screw only : 0.2 Nm, with screw + washer : 0.3 Nm

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



02/11/2015

Lead outputs
FGO lead output on left - FDO lead output on right

~F

@
DD
X

+
i . Y D
1 % U / \@
.f S Q0
) ~ -
! OOﬂ
6,4 3
- | -—
19,9
- >

Black = Common Grey = NC Blue = NO Conductor cross-section : 83181 / 83183 / 83186 = 0.5 mm2 83180 = 0.75 mm2

WWW.Ccrouzet.com

N° Legend

(1] FGO

[ 7] FDO

(1] Standard 500 mm

Lead/cable output
CBO cable output on bottom

J—
&g 2
—Pb D |

-

10,8 max.

[

@5max. .| | 0

Black = Common Grey = NC Blue = NO Conductor cross-section : 83181 / 83183 / 83186 = 0.5 mm2 83180 = 0.75 mm2

Ne Legend

(1] Standard 500 mm

Cable outputs
CGO cable output on left - CDO cable output on right

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



02/11/2015

|
Loy

i
<«
6,4

L
A

10,8 max.

—
|

&
E

19,9

_—
-

Black = Common Grey = NC Blue = NO Conductor cross-section : 83181 / 83183 / 83186 = 3 x 0.5 mm2

WWW.Ccrouzet.com

Ne Legend

(1] €GO

@ cpo

(1] Standard 500 mm

Fixing position

A

5,75

11,25

PR

9L Y

@ N ] @
© ©
i S =0
o 1325 3.75

Black = Common Grey = NC Blue = NO Conductor cross-section : 83181 / 83183 / 83186 = 3 x 0.5 mm2

170 A
Flat

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



02/11/2015 WWW.crouzet.com

4x0.3

Black = Common Grey = NC Blue = NO Conductor cross-section : 83181 / 83183 / 83186 = 3 x 0.5 mm2

170 E
Roller

Black = Common Grey = NC Blue = NO Conductor cross-section : 83181 / 83183 / 83186 = 3 x 0.5 mm2

170 F
Dummy roller

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



02/11/2015 WWW.crouzet.com

Black = Common Grey = NC Blue = NO Conductor cross-section : 83181 / 83183 / 83186 = 3 x 0.5 mm2

Recommendations for operation from the side

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



02/11/2015

WWW.Ccrouzet.com

I

Black = Common Grey = NC Blue = NO Conductor cross-section : 83181 / 83183 / 83186 = 3 x 0.5 mm2

Fixing pins
S
o
2,6-01 - ‘» pal
' | ‘
T | A
|
' — — | =,

Black = Common Grey = NC Blue = NO Conductor cross-section : 83181 / 83183 / 83186 = 3 x 0.5 mm2
Ne Legend
1]

X2 output

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



02/11/2015 Www.crouzet.com

Fixing pins

T T T — I 1

=

| v
| ol
™~

2,60

Black = Common Grey = NC Blue = NO Conductor cross-section : 83181 / 83183 / 83186 = 3 x 0.5 mm2

N° Legend

0 X3 output

Operating curve 250 VAC

6
2510 8-eeeeheree e e -
xms \ 83181
R SEaS; 83186 |

83183 - ANNN

10

83180 -

4

10 p-o
005 01 02 05 1 2 5 10

Model 83181 is designed to operate equally well on dual-current (1 mA 4 V minimum) or medium-current (6 A maximum) circuits. However, a given product should only be used to switch one type
of circuit during its working life.

N° Legend

(1] Number of cycles
(2] Resistive circuit
3] Current in Amps

Switch rating with DC supply

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



02/11/2015 Www.crouzet.com

83180 83181 83183 83186
12V Resistive 10A 6 A 3A 6 A
Inductive L/R 5 ms 104 6A IA 6A
Inductive L/R 5 ms 5A 5A IA SA

Model 83181 is designed to operate equally well on dual-current (1 mA 4 V minimum) or medium-current (6 A maximum) circuits. However, a given product should only be used to switch one type
of circuit during its working life.

Connections

Actuators and fixing positions

Part numbers for
standard actuators ST T I
AT Flat 1704 R183 Flat 1704 24 Flaz 1704 Ra1 Raller 170E R20
Mounting position A [ A [] A B A B
Coeffcient 3 15 4 Fi ! 315 3 1.5
Tripping peint g4 9.2 =08 g S 1279 L 8 15514 4.5 %%
B350 s 888
BITE1/ 183/ 186 e 93 %
Part numbers for
standard actuators [__7easias |
Artustors Dummy roller 170F Scrgw 1700 * Transverse ralker 170 EL ™

R1&5
Misuniting position A B
Coefficient 3 1.5
Tripping point 129 118

Except whene ctherwise indicabed, levers are suppled unmounted.
For factory maunting, specily fixing position A er B,
* To spedal arder

Other information

Mounting - Operation
See basic technical concepts

Degree of protection
- Tag version :
—casing = IP67
—terminals = IP00

- Lead/cable version :
—output/casing = IP67

To calculate force : divide the switch force by the coefficient in the table.
To calculate travel : multiply the switch travel by the same coefficient.

Product adaptations

[ ] * Special levers

* Specific fixings
* Special leads, cables, cable harnesses

* NF - UL - cUL approvals

Unless otherwise specified, the characteristics given are applicable to all or part of the product range selected



Mouser Electronics

Authorized Distributor

Click to View Pricing, Inventory, Delivery & Lifecycle Information:

Crouzet:

831800C1.0 831800C1.AL 831800C2.0 831800CFD0.0 831800CFG0.0 831800CGG0.0 831800CGGO.EL
831810C1.0 831810C1.BL 831810C1.EL 831810C1.FL 831810C2.0 831810C2.FL 831810C3.0 831810C3.AL
831810C3.FL 831810C4.0 831810C4.BL 831810C5.0 831810C6.0 831810C7.0 831810CCG01.0
831810CCGO1.EL 831810CCG02.0 831810CCG02.CL 831810CFB0.0 831810CFD0.0 831810CFDO0.BL
831810CFDO0.CL 831810CFDO.EL 831810CFDO.FL 831810CFDO.FR 831810CFD01.0 831810CFDO1.EL
831810CFD03.0 831810CFD03.FR 831810CFG0.0 831810CFGO.EL 831810CFGO.FL 831810CFGO.FR
831810CFG01.0 831810CFGO1.EL 831810CFGO01.FR 831810CFG03.0 831810CFGO03.FR 831810CGG02.0
831810CGG02.CL 831830C1.0 831830C1.EL 831830C2.0 831830C2.DL 831830C2.EL 831830C2.FL
831830C2.FR 831830C3.0 831830C4.0 831830C7.0 831830C8.0 831830CFD0.0 831830CFD0.DL 831830CFGO0.0
831860C1.0 831860C1.79218605L 831860C1.AL 831860C1.BL 831860C1.CL 831860C1.EL 831860C1.FL
831860C2.0 831860C2.BL 831860C2.EL 831860C3.0 831860CCD0.0 831860CFB0.0 831860CFDO0.0
831860CFDO0.AL 831860CFDO0.BL 831860CFDO0.CL 831860CFDO0O.EL 831860CFDO.ER 831860CFDO.FL
831860CFDO0.LL 831860CFGO0.0 831860CFGO0.BL 831860CFGO.EL 831860CFGO0.FR 831860CGGO0.0 831800C4.AL
831810C8.0 831860CCG1.CL 831800C7.AL 831800CFBO0.0 831810CFDO01.FR 831800C3.AL 831810C2.EL
831810C2.BL 831860C2.FL 831860C4.0 83186063 83181061



https://www.mouser.com/crouzet
https://www.mouser.com/access/?pn=831800C1.0
https://www.mouser.com/access/?pn=831800C1.AL
https://www.mouser.com/access/?pn=831800C2.0
https://www.mouser.com/access/?pn=831800CFD0.0
https://www.mouser.com/access/?pn=831800CFG0.0
https://www.mouser.com/access/?pn=831800CGG0.0
https://www.mouser.com/access/?pn=831800CGG0.EL
https://www.mouser.com/access/?pn=831810C1.0
https://www.mouser.com/access/?pn=831810C1.BL
https://www.mouser.com/access/?pn=831810C1.EL
https://www.mouser.com/access/?pn=831810C1.FL
https://www.mouser.com/access/?pn=831810C2.0
https://www.mouser.com/access/?pn=831810C2.FL
https://www.mouser.com/access/?pn=831810C3.0
https://www.mouser.com/access/?pn=831810C3.AL
https://www.mouser.com/access/?pn=831810C3.FL
https://www.mouser.com/access/?pn=831810C4.0
https://www.mouser.com/access/?pn=831810C4.BL
https://www.mouser.com/access/?pn=831810C5.0
https://www.mouser.com/access/?pn=831810C6.0
https://www.mouser.com/access/?pn=831810C7.0
https://www.mouser.com/access/?pn=831810CCG01.0
https://www.mouser.com/access/?pn=831810CCG01.EL
https://www.mouser.com/access/?pn=831810CCG02.0
https://www.mouser.com/access/?pn=831810CCG02.CL
https://www.mouser.com/access/?pn=831810CFB0.0
https://www.mouser.com/access/?pn=831810CFD0.0
https://www.mouser.com/access/?pn=831810CFD0.BL
https://www.mouser.com/access/?pn=831810CFD0.CL
https://www.mouser.com/access/?pn=831810CFD0.EL
https://www.mouser.com/access/?pn=831810CFD0.FL
https://www.mouser.com/access/?pn=831810CFD0.FR
https://www.mouser.com/access/?pn=831810CFD01.0
https://www.mouser.com/access/?pn=831810CFD01.EL
https://www.mouser.com/access/?pn=831810CFD03.0
https://www.mouser.com/access/?pn=831810CFD03.FR
https://www.mouser.com/access/?pn=831810CFG0.0
https://www.mouser.com/access/?pn=831810CFG0.EL
https://www.mouser.com/access/?pn=831810CFG0.FL
https://www.mouser.com/access/?pn=831810CFG0.FR
https://www.mouser.com/access/?pn=831810CFG01.0
https://www.mouser.com/access/?pn=831810CFG01.EL
https://www.mouser.com/access/?pn=831810CFG01.FR
https://www.mouser.com/access/?pn=831810CFG03.0
https://www.mouser.com/access/?pn=831810CFG03.FR
https://www.mouser.com/access/?pn=831810CGG02.0
https://www.mouser.com/access/?pn=831810CGG02.CL
https://www.mouser.com/access/?pn=831830C1.0
https://www.mouser.com/access/?pn=831830C1.EL
https://www.mouser.com/access/?pn=831830C2.0
https://www.mouser.com/access/?pn=831830C2.DL
https://www.mouser.com/access/?pn=831830C2.EL
https://www.mouser.com/access/?pn=831830C2.FL
https://www.mouser.com/access/?pn=831830C2.FR
https://www.mouser.com/access/?pn=831830C3.0
https://www.mouser.com/access/?pn=831830C4.0
https://www.mouser.com/access/?pn=831830C7.0
https://www.mouser.com/access/?pn=831830C8.0
https://www.mouser.com/access/?pn=831830CFD0.0
https://www.mouser.com/access/?pn=831830CFD0.DL
https://www.mouser.com/access/?pn=831830CFG0.0
https://www.mouser.com/access/?pn=831860C1.0
https://www.mouser.com/access/?pn=831860C1.79218605L
https://www.mouser.com/access/?pn=831860C1.AL
https://www.mouser.com/access/?pn=831860C1.BL
https://www.mouser.com/access/?pn=831860C1.CL
https://www.mouser.com/access/?pn=831860C1.EL
https://www.mouser.com/access/?pn=831860C1.FL
https://www.mouser.com/access/?pn=831860C2.0
https://www.mouser.com/access/?pn=831860C2.BL
https://www.mouser.com/access/?pn=831860C2.EL
https://www.mouser.com/access/?pn=831860C3.0
https://www.mouser.com/access/?pn=831860CCD0.0
https://www.mouser.com/access/?pn=831860CFB0.0
https://www.mouser.com/access/?pn=831860CFD0.0
https://www.mouser.com/access/?pn=831860CFD0.AL
https://www.mouser.com/access/?pn=831860CFD0.BL
https://www.mouser.com/access/?pn=831860CFD0.CL
https://www.mouser.com/access/?pn=831860CFD0.EL
https://www.mouser.com/access/?pn=831860CFD0.ER
https://www.mouser.com/access/?pn=831860CFD0.FL
https://www.mouser.com/access/?pn=831860CFD0.LL
https://www.mouser.com/access/?pn=831860CFG0.0
https://www.mouser.com/access/?pn=831860CFG0.BL
https://www.mouser.com/access/?pn=831860CFG0.EL
https://www.mouser.com/access/?pn=831860CFG0.FR
https://www.mouser.com/access/?pn=831860CGG0.0
https://www.mouser.com/access/?pn=831800C4.AL
https://www.mouser.com/access/?pn=831810C8.0
https://www.mouser.com/access/?pn=831860CCG1.CL
https://www.mouser.com/access/?pn=831800C7.AL
https://www.mouser.com/access/?pn=831800CFB0.0
https://www.mouser.com/access/?pn=831810CFD01.FR
https://www.mouser.com/access/?pn=831800C3.AL
https://www.mouser.com/access/?pn=831810C2.EL
https://www.mouser.com/access/?pn=831810C2.BL
https://www.mouser.com/access/?pn=831860C2.FL
https://www.mouser.com/access/?pn=831860C4.0
https://www.mouser.com/access/?pn=83186063
https://www.mouser.com/access/?pn=83181061

